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1. … Nf8! 
1. … Qg8+ 2. Bb3 Qxg7 3. Nc5 +- ; 1. … Qxg7 2. Qb3 or 2.Nc5 +- 
2. Qb3! 
Try: 2. Qc3? Qh2+! 3. Bc2 Nd7! 4. Na5 c5! 5. Ne6 (5. Qb2+ Nb6 6. Ne6 Qd6! 7. Qh8+ 
Nc8 =) 5. … Kc8 6. Nxc5 Qe5! 7. Qf3 Nxc5 8. Qxa8+ Qb8 9. Bf5+ e6 10. Qc6+ Qc7 =;
2. Qb2? Kc8 3. Qg2 (3. Nc5 Rb8 =) 3. … Rb8 =; 2. Nf5? Kxb7 3. Qe4+ (3. Bc6+ Kc8) 
3. … c6! = 

2. … Kc8 
2. … Qh2+ 3. Ka3 Kc8 4. Nc5 transposes 
3. Nc5 Qh2+! 
main line B: 3. … Rb8 
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4. Qe6+! (4. Bd7+? Nxd7 -+) 4. … Nxe6 (4. … Kd8 5. Qd5+ +- Black cannot interpose his 
queen on d6) 5. Bd7+ Kd8 6. Ngxe6# 
4. Ka3 Qh1! 
4. … Rb8 5. Bd7+! (5. Qe6+? Kd8! 6. Qd5+ Qd6 =) 5. … Nxd7 6. Qg8+ Nf8 7. Qxf8# 
5. Bd7+ 
5. Qc3? Rb8! 6. Nf5 Rb6 =



5. … Kd8 
5. … Nxd7 6. Qg8+ Nf8 7. Qxf8# 
6. Qc3 Rb8 
6. … Nxd7 7. Nce6+ Kc8 8. Qxc7#;
6. … Qg2 7. Nge6+ Nxe6 8. Qh8+ Nf8 9. Qxf8#
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7. Bg4!! 

Thematic try: 7. Bf5? Rb6! (7. … e5? 8. Nge6+! Nxe6 9. Qd2+ Nd4 10. Qg5+ Ke8 
11. Bg6+ +-) 8. Qd3+ Rd6 9. Qf1 Qc6! =;
Try: 7. Bh3? e5!! 8. Nge6+ (8. Qd3+ Ke7 9. Nf5+ Ke8 =) 8. … Nxe6 9. Qd2+! Nd4! 
10. Qg5+ Ke8 11. Qh5+ (11. Qg8+ Ke7 12. Qh7+ Kd6 13. Ne4+ Qxe4! =) 11. … Ke7 
12. Qxe5+ Kf7 13. Qxc7+ Kg6! 14. Qg3+ Kf7 15. Qf4+ Kg6 =; 
Try: 7. Be6? Qd1! = 

7. … Rb6 8. Qd3+ 
8. Qd4+? Rd6 9. Qb2 Rb6 = 
8. … Rd6 
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9. Qf1! threat 10.Qxf8# and 10.Qxh1
9. Nge6+? Nxe6 10. Nxe6+ Kc8 = 

9. … Qxf1 10. Nb7#   1‑0 
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      win                           (5+2)

1. Nf6+! 
1. e7? Qa8+ =;
1. Ne7? Qb6 = 
1. … Kg5! 
1. … Kg6 2. Nd5 +- (and 2... Qh7 without check) 
2. Nd5 
2. Bc3? Qa4+ or Qe7 =;
2. e7? Kxf6 3. e8=Q Qb7+ 4. Kd3 Qxb4 5. Ne4+ Kg7 = 
2. … Qh7+ 3. Ke3! 
3. Kd4? Qh8+ 4. Kd3 Qh3+ =;
3. Ke5? Qh8+ or Qh2+ = 
3. … Qa7+! 
3. … Kf5 4. e7 +-;
3. … Qh3+ 4. Nf3+ Kg4 5. Nf6+ +- e.g. 5. … Kg3 6. Ng5 Qh6 7. Ne4+ Kg4 8. e7 +- 
4. Ke2! 
4. Kf3? Qd4! 5. Ne4+ Kf5 =;
4. Kd3? Qa6+ = 
4. … Qa6+ 5. Kf3 Qxe6 
5. … Kf5?! is hopeless. Bishop, two knights and pawn versus queen is usually a win. 
6. e7 Qe6 7. Ne3+ Ke5 (7. … Kf6 8. Ne4+) 8. Ndc4+! 8.Kf6 9. Nb6! Kf7 (9. … Qh3+ 
10. Ke2 Kf7 11. Nbd5 +-) 10. Nbd5 Qh3+ 11. Ke2 +-;
5. … Qd3+ 6. Ne3 Kf6 7. e7 Qb5 (7. … Qg6 8. Nd5+ Kf7 9. Ne4) 8. Ne4+ Ke6 9. Bc5 +-

6. Ne4+ Kf5 
6. … Kh6 7. Bf8+ +-;
6. … Kh4 7. Be1+ +- 
7. Ne7+ Ke5 8. Bc3#   1‑0 
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1. Kg2! 
1. Bc8? Qf7! 2. Bg4 Qf1+ = 
1. … Qc3! 
1. … Ke3 2. Nc4+! Kxd3 3. Na5+ +-;
1. … Qb6 2. Bb7+! (2. Nf2+? Kd4! 3. Nbd3 Qc6+ =) 2. … Qxb7 (2. … Ke3 3. Nc4+ fork) 
3. Nc5+ +- fork;
1. … Qf7 2. Nf2+! Ke3 (2. … Kd4 3. Ra4+) 3. Ng4+ Kd2 (3. … Kd4 4. Nd3) 4. Nc4+! Kc3 
5. Nce3 Kd2 6. Ne5! Qg7+ 7. Kf2 Qf6+ 8. Nf3+ +- 
2. Bb7+! 
Try: 2. Kf2? Qd2! 3. Bb7+ Kd4 4. Ra4+ Kc3 5. Rc4+ Kb3 6. Rb4+ Ka2 7. Bd5+ Ka1 
8. Ra4+ Kb1 9. Ba2+ Ka1 =;
2. Nf2+? Kd4 3. Ra4+ Kd5 = 
2. … Ke3 3. Ne5! e1=Q 
3. … Qxe5 4. Nc4+ +- fork;
3. … Kf4 4. Nbd3+ +-;
3. … Kd4 4. Nf3+ Ke3 (4. … Kc5 5. Na4+ fork) 5. Ra3! Qxa3 6. Nc4+ +- fork 
4. Rxe1+ Qxe1 5. Nbc4+ Ke2 
5. … Kf4 6. Nd3+ fork;
5. … Kd4 6. Nf3+ fork 
6. Bf3#   1‑0 
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1. a5! 

1. Nf2? Kb2! 2. Kd3 (2. Ne4 Bd8 3. Nc5 Bb6! = (3. … Ka3? 4. Kc3 Bb6 5. Kc4 +-)) 
2. … Kb3 3. a5 Be5! (3. … Bd8? 4. a6 Bb6 5. Ne4 Kb4 6. Nd6 +-) 4. a6 Bb8 =;
1. Kd3? Kb2! 2. Kc4 Bh4! (2. … Kc2? 3. Nf2 Bd8 4. Nh3 +-) 3. a5 Bd8 4. a6 Bb6 =

1. … Kb2! 2. a6 Bd4 3. Kd3! 
3. Nf2? Kb3 = 
3. … Ba7 4. Nf2! Bxf2 
4. … Kb3 5. Ne4 Kb4 6. Nd6 Ka5 7. Nc8 +- 
5. e4 fxe3 
5. … f3 6. e5 +- 
6. Ke2   1‑0 


